SEAUTHF TR
A 7 & v T

St

Faa Rt

& W FEEY2=T)

15- 6
15- 5

W s (FEY2=7)

O
7-15
15- 9
15-14

E B (2E08H)

fE EH BN ] BC)

10-15
12-15

SFEAEUTH SV TIVA
B 7 v v 7

JIg

N

DA

=i AL (RBEY2=T)

15-12
15- 9

H 1 (BHV==7)

it

7

mE BN (CEO0L)

11-15
9-156

STEAUTHF VT IVA
cC 7 v v 7

[I[5]
A

wh] b (I2E20 &)

15- 1
15— 4

H AR (AT BC)

] b R (REVa=7)

7-15
15-12
12-15

SEEUTH YV TIVA
D 7 v v 7

R

&
A

JNE KL (TR0 L)

15- 4
15- 5

a s RN (EOD)

i ZIK H% (%E?V;:?)

12-15
12-15

CO DO | —




SEADTEF AR IR R—F A2

M B EHVaz7) 2
215 2 B B8 (ZEOL)
A B (REY2=7) 0 2 b
52-29 0 2 0 mH B (FEOL)
B AR (A TBC) =2 0 L
o] 012 Jos 2l——4i4 il (B8V2=7)
A (EBVaz7) ——2 X
So10 0 ot B KR (RE0L)
mE B (ZE08) o 0 21-10
S 6 0 0 W E OB (BHVa=7)
3 M (ENIBC) 2 3
3110 2 2 Y OB (B¥Vaz7)
JE L (FE0L) —2
I L (0L :”&fﬁ
So1g p—
A A (BBYaz7) 0
AR TR TR I - i
A 7‘ s > 7 E # I%J |EJ :III? j:': ﬂ '\:', % E\& ’ﬁ/:
o O O O M 30
LA KRE (KEV2=2T) 157 5 4 PO 1
15-11 15- 0 15- 2 |p g0-28
—.é?lﬁl fFj\( (7 A :)C) 7><15 1506 c o
= — A » - - 15-10 -
=] 5% / 11-15 15- 5 15- 6 g ;18%57 2
—= N 2 Y — 4:5 o 15910 Wiz
= H A (%ET/:L*‘T) B ! 1-15 |6 25 3
0-15 5-1 15-11 P 56-96
] IR7 § - 10015 W03
Wl SR (EHBSS) [orm | ows g crs |4
11-15 -101

AFEDTHRAV TV L : " JIE
O O O —
Hi fLE (2E0K) s | e | s foes | ]
15- 6 15— 4 15-11 P 90-42
N X X X M 0-3
A P (R 2=7) o o P 4
7-15 P 60-102
. ) X O o M 2-1
fH RF (D=2 ) [ on | s o | )
15- 7 15-14  |P 96-103
ﬂb*\j‘ *ﬁ"jﬁ (fﬁ%'ff"ﬁ}/—\) 6>—<15 15?13 1415 BG/[ é:i
- A 115 15>~ 6 i P 90-89 3




AEEUTH A TV — = o2 e
R @) O M 20

O Sk (=5 F) p i |

B X O M 1-1

A A (BEBSS) | o S e

B L . X M 0-2

24 FAE BEUaz7) | 1 | o ot |3

AAELDTEF IV A P h—F A B

2 Ho Bk (/-59F)
LH RE (FEY227) 2 B2
o 2 0 A WSt (REV2=7)
B R K78 (FERR) ——2 2 0 218
I 0 b—EJ FA (FBY227)
Zd B KEVaz7) o ozl 21T fan
e 2——JCt/A WIT (BHBSS)
i K (7=7 1) ——2 | H o017
it Y 0 ] 165 A (KBS S)
B OB (V4T —————1 26
ob——— i Wi (2F0 L)
mE KA (9-7 1) =
St [
M MR (RE0X) 2

\ NN < N e K IE‘

SIEALTRTFYY /AR (5% WE|0T R B R R
- - @) @) @) O M 4-0

KU BEK (7)-0Y227) an | | ] e, |

P 169-46

X (@] M 3-1

Pikr IEE BRI BC) | wa 3 coz | )
N N * 8 ) - b s

B om oW NIBC) | | ¥ S IS T
) X X (@] X M 1-3

Pl W FEVa=7) | o | oem | x FE
N X X O O M 2-2

WA REL (BHV2z=T) | e | oem | x| 2w ]9




BEAUTEF VTR [ il ol i = 2 g | H
A - o y 7 E%»% EE] raj E]’ *EEI EEI *EEI ZIK H}# /& ﬁ—
. O O O M 3-0
BEM EA (FEOL) oo | e ) e e | ]

o . O O M 2-1
EI BN, (A5 2=7) | ey ke | )
B - X @) M 1-2
GV (BEY =7 s G I I
— X X M 0-3
A& AL LB S S) e o | 4

SEAUT LAV VT IVA e - [T
a /E\ aS A N
B 7 v v 7
/ B (5 ) 5 9 o
i & (7)—vVa227) 915 15-13 16 3-2 2
12-15 15-8  Ip 66-60
L N . 2 O |20
Ek; W *ﬁé% (%E]Y’VJ:‘T) 15- 9 15= 9 G 4-1 1
15-12 15-10  |p g9-55
. . . X X M 0-2
EAO By EHVa=7) 13-15 9-15 G 04 3
8-15 10-15 P 40-60
SHEAUTLTF VA R h—F A R
o B B (K5V227)
BEH O EH (ZF0L) 0 2114
o6 210 o111 |1 HO RS (FHVazT)
& H R (EHYV2=7) 0 %}:é 26
3113 o—— @A EWL (EHEBSS)
i B (7)-vYaz7) 2 2 21-3
2 RN BT (FEY2=7)
i B (57-19227) S
21-16 |
21-18
0

B BEml (BEY2=T)




AFAUT LAV TIVA " [
. X @) @) M 2-1
P S0 (A4 7h—) r A e T |
14-15 15- 6 154 |p 102-57
Al A s - el
I )Y (7“‘5’ /%) 15-13 }::g }g:g G 4-3 3
15-14 P 91-76
. O M 2-1
MW 2 H (KEVa=7) | 7 519 N
E N . X X M 0-3
\ — 3 4-15 2-15 -
E*EP LI (]7 J ] I‘) 4-1 0-15 5-15 2?8?90 4
AUV TR | e i - JIE
B 7 e w7 & JG 7k [H] j:’: ):]L IEJ I:Fl U—l % /B\& ’ﬁL
. o < (o . O O O M 3-0
A $E (7)-07a27) o | ey e | ]
ain b ok (g 10%15 1;313 15- 4 e
=] # '%ﬁ (*"V\] JB C) 4-15 15- 6 15~ 2 S Z?55 2
. X X O M1-2
Jiid Az (REv==7) || FREN (R
X M 0-3
Pl A (BEF]BC) [ 15 oI5 G 06 il
2 2-15 3-15 P 20-90

LR TR F v T A ‘ R
~ I 1 /N as :
o SR T kR e |
B } O O M 2-0
N — — 15- 2 15- 9 -
JIl b BB (5)-0Y227) p N X |
X M 0-2
W nAA (EEBSS) | oo 15 o |
P 22-60
o . X O M 1-1
K EiE (KEvaz7)| o6 | w0 c22 | )
P 44-44

TEAD TR oy TR |, — i
. O O M 2-0
WA BEAE (REVa=T) 15-10 15- 2 |G 4-0 1
15- 9 15- 1 |p go-22
e . X O Mo1-1
PEdR R (s yTF) | 0o oo e )
X M 0-2
itk -15 6-15 _
R BT MNIBC) | w8 | oo cos |3

P 16-60




AR T T TV A R h—F A B

R 25X (A7) 2 2 JII B BR~F (57-vV22T)
3o 2 2o
FE B+ BNIBC) 0 2 0 ol fEAR BEFIBC)
o — i
KB EHE (FEV227) e——2 2 1 R &% (FEVa=7)
] ol2 g T621
B3 fE (BAIBC) =2 276|279 [0 — K % B (REVa2=T)
3220 2
i LT (V=4 vF) 0 1 op— G 7 EX (V4T
21-10 21-15
22-20 0 51 6
B fR D (U—=71) 0 0 0 VEHE 7e7pA (JBEBSS)
21- 4 21-11
21- 8 0 21-11
AR AR (REV2zT) e—)2 2 TR BEF (5)/-/V227)
fi3F R (HAIBC) =AIECTER
21-13 |
21-16
SR BE (/-vaz7) °
A 7 1 y y = o A ,fi
O O M 2-0
M ¢ (BN BC) o | 1o o | ]
15- 3 15- 4 |p 60-19
X O Mo1-1
B PR (BEVa=T) | o 55 s | 9
3-15 15- 3 |p 36-41
X X M 0-2
X E 2 (FEO0LH) 9-15 8-15 G 0-4 3
415 3= P 24-60
SHEAELTRFY VT NA s ola owmle omlew JIIE
O O M 2-0
e Nagiine -X 15- 2 _
gA Vb (BB ]TBC) - - G 4-0 1
X 15= 9 |p 72-11
X X M 0-2
A A (EO0L) X- X~ G 0-4 3
X- X- P 0-84
X O M o1-1
NG B ESVaz7) | = X coz | )
9-1 -X P 53-30




SEEUTRFV VT IVA N - NI
v e O @) M 2-0
s — 7 3 15- 5 15- 3 _
L A (=7 ) rR I FXN
[ X O M o1-1
2l HIO (FHY2=T) 5-15 15-13 |G 2-2 2
5-15 15- 7 |p 40-50
e \ X X M 0-2
MR % (EBIBC) | s | o T
3-15 7-15 P 926-60
SELUTRFV VT IVA o " &
R i i | % I | o
D 7 & v s HH - W %‘&4M
. . O O M 2-0
T BN (BHV2=7) 15-12 15-5 |6 4-0 1
15- 8 15- 6 |p 60-31
e . X 1596 Mo1-1
Pk FEE (BHYa=7) 12-15 20 lo2-3 2
8-15 15- 5 [P 55-56
s 6>—<15 M 0-2
E&*T Hﬂ%%—? (*ﬁﬁm J B C) 5715 15- 5 G 14 3
6-15 5-15 P 37-65
SBAEATETF v INVA R h—F A B
M R BNJBC) 2 2 W A (V=)
5 58
BeA BRZR (BAJBC) —— 1 2 2 0 A A (E0L)
o] 0 X
B HEV (FFY227) =—2 2| N E EFVazT)
21-10 112 21-14
21-18 21-14 21-12
INE BB (BHY2n)) e—2 1321 o= i FEE (BHVa2z7)
21-11 0 0 21- 9
21-18 21-17
K kB % (ZF0H) Y Y 0 IR S HEHIBC)
21- 8 21-14
21- 6 21-18
T BiER (FHV2=7) 2 2 wA DbhA BEF]BC)
T B (REV2=7) =

A Vb BEF]BC)

21-11 f———

21-12




